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4 + 4is the same s 24 + _ S

d 4

___‘;?:_ +2isequal to2 x 3.




The numbers in'Athe‘- shape make a pattern.
The missing number is

B e .

b 8
d 28

A farmer puts 20 tomatoes exactly ir'itf'O““-f' W N

a 2groups of 5

P il

A+ A+ A+ A+ A=

Test 3: Multiplying by 2 and 3.and Multiplying by 4, 5 and 10




- (102 = 20 marks)

' .

; M'qttfsaves £2 every week |

He §qves £.___lg;_m 9 weeks.. L

N

L ' 12kg of ﬂour is. pecked equcally m 3 boxes

Each box hcss Ll -. . kg ef ﬂeur
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Test 3: Multiplying by 2 and 8 and Multiplying by 4, 5 and 10
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